

SOME GENERALIZED RESULTS OF ZEROS OF POLAR DERIVATIVE OF A POLYNOMIAL

RAM MILAN SINGH

ABSTRACT. In the present paper, we further generalize and extend various results on zeroes of polar derivatives of polynomials due to Gulzar, Zargar and Akhter (2019), who gave extension and generalization of various results on Enestrom-Kakeya theorem established by various researchers in the literature.

Key Words: Zeros, polynomial, Enestrom-Kakeya theorem, polar derivative, .
2010 Mathematics Subject Classification: 37K20 .

1. INTRODUCTION

If $f(z)$ be the k^{th} degree polynomial with real coefficients. Let $D_\beta f(z)$ be the polar derivative of $f(z)$ with respect to the point β and it is defined by $D_\beta f(z) = kf(z) + (\beta - z)f'(z)$. In this case the degree of $D_\beta f(z)$ at most $k - 1$ and $\beta \rightarrow \infty$ then it generalized the ordinary derivative,

$$f'(z) = \lim_{\beta \rightarrow \infty} \frac{D_\beta f(z)}{\beta}$$

Regarding the zeroes of $f(z)$, Enestrom-Kakeya proved the following result.

Theorem 1.1 Let $f(z) = \sum_{i=0}^k a_i z^i$ be the k^{th} degree polynomial with real coefficients such that $0 < a_0 \leq a_1 \leq \dots \leq a_{n-1} \leq a_n$ then all the zeroes of $f(z)$ lies . Regarding the multiplicity of zeroes of $f(z)$, Aziz and Mahammad [1], proved the following result

Received: 12 May 2021, Accepted: 10 September 2021. Communicated by Mirela Stefanescu;
*Address correspondence to R. M. Singh; E-mail: rammilansinghlig@gmail.com.

© 2021 University of Mohaghegh Ardabili.

Theorem 1.2 Let $f(z) = \sum_{i=0}^k a_i z^i$ be the k^{th} degree polynomial with real coefficients such that $0 < a_0 \leq a_1 \leq \dots \leq a_{n-1} \leq a_n$ then all the zeroes of $|f(z)| \geq \frac{k}{k+1}$, are simple.

Gulzar, Zargar, and Akhter [6] extended the above results to the polar derivatives, there exist some generalizations and extensions of Enestromakey theorem in [2, 3, 5, 8, 9, 10].

In the present paper, we generalize and extend various results on zeroes of polar derivatives of polynomials due to Gulzar, Zargar, and Akhter [6]

2. PREPARATION OF MANUSCRIPT

Theorem 2.1 Let $f(z) = \sum_{i=0}^k a_i z^i$ be the k^{th} degree polynomial with real coefficients and β be a real number $\gamma > 0, 0 < t \leq 1$, such that for some

$tb_k \geq b_{k-1} \geq \dots \geq b_3 \geq b_2 - \gamma$ then all zeroes of $D_\beta f(z)$ which does not lie in

$$|z| \leq \frac{|b_k| + t(b_{k-1} - b_2 + |b_2| + 2\gamma)}{|b_k|}$$

are simple, where $b_s = (s-1)[s\beta a_s + (k - (s-1))a_{s-1}]$, for, $s = 1, 2, 3, \dots, k$.

Proof- Let $f(z) = a_k z^k + a_{k-1} z^{k-1} + \dots + a_1 z + a_0$ be the k^{th} degree polynomial with real coefficients, then by the definition of polar derivative, we know that

$$D_\beta f(z) = kf(z) + (\beta - z)f'(z),$$

$$D_\beta f(z) = kf(z) + \beta f'(z) - zf'(z),$$

Therefore,

$$\begin{aligned} D_\beta f(z) &= k \left(a_k z^k + a_{k-1} z^{k-1} + \dots + ka_1 z + a_0 \right) + \\ &\quad \beta \left(a_k k z^{k-1} + a_{k-1} (k-1) z^{k-2} + \dots + a_1 \right) \\ &\quad - z \left(a_k k z^{k-1} + a_{k-1} (k-1) z^{k-2} + \dots + a_1 \right) \\ &= ka_k z^k + ka_{k-1} z^{k-1} + \dots + ka_1 z + ka_0 + \beta a_k k z^{k-1} \\ &\quad \beta a_{k-1} (k-1) z^{k-2} + \dots + \beta a_1 \\ &\quad - a_k k z^k - a_{k-1} (k-1) z^{k-1} - \dots - za_1 \end{aligned}$$

Thus,

$$D_\beta f(z) = [\beta ka_k + (k - (k-1)a_{k-1})] z^{k-1} + [\beta(k-1)a_{k-1} +$$

$$(k - (k - 2)a_{k-2})] z^{k-2} + \cdots + [2\beta a_2 + (k - 1)a_1] z + [\beta a_1 + ka_0]$$

Therefore,

$$D'_\beta f(z) = b_k z^{k-2} + b_{k-1} z^{k-3} + \cdots + b_4 z^2 + b_3 z + b_2$$

where $b_s = (s - 1)[s\beta a_s + (k - (s - 1))a_{s-1}]$, for $s = 2, 3, 4, \dots, n$

Now consider $g(z) = (1 - z)D'_\beta f(z)$, so that

$$g(z) = (1 - z) [b_k z^{k-2} + b_{k-1} z^{k-3} + \cdots + b_4 z^2 + b_3 z + b_2]$$

Then

$$|g(z)| \geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \left\{ |b_k - b_{k-1}| + \frac{|b_{k-1} - b_{k-2}|}{|z|} + \frac{|b_{k-2} - b_{k-3}|}{|z|^2} \right. \right. \\ \left. \left. + \cdots + \frac{|b_3 - b_2|}{|z|^{k-3}} + \frac{|b_2|}{|z|^{k-2}} \right\} \right]$$

If $|z| < 1$, then $\frac{1}{|z|} \leq 1$, therefore

$$|g(z)| \geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \left\{ |b_k - tb_k + tb_k - b_{k-1}| + \cdots \right. \right. \\ \left. \left. + |b_3 - \gamma - (b_2 - \gamma)| + |b_2| \right\} \right] \\ \geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \left\{ |b_k - tb_k| + |tb_k - b_{k-1}| + \cdots + \right. \right. \\ \left. \left. |b_3 - (b_2 - \gamma)| + |\gamma| + |b_2| \right\} \right] \\ \geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \{ (1 - t) |b_k| + tb_k - b_2 + 2\gamma + |b_2| \} \right] \\ \geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \} \right],$$

Hence $g(z) > 0$, if $|z| > \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \}$, this implies that $|g(z)| > 1$ lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \}$$

Since the zeroes of $g(z)$ whose modulus is less than or equal to one are lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \}$$

It follows that all the zeroes of $g(z)$ lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \},$$

Since all the zeroes of $g(z)$ are also the zeroes of $D'_\beta f(z)$ lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \}$$

Thus all the zeroes of $D_\beta' f(z)$ lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \},$$

In other words all the zeroes of $D_\beta f(z)$ which does not lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| + t(b_k - |b_k|) - b_2 + 2\gamma + |b_2| \}$$

are simple, where $b_s = (s - 1)[s\beta a_s + (k - (s - 1))a_{s-1}]$, for $s = 2, 3, 4, 5, \dots, k$.

Theorem 2.2 Let $f(z) = \sum_{i=0}^k a_i z^i$ be the k^{th} degree polynomial with real coefficients and β be a real number $t \geq 1, 0 < \gamma < 1$, such that for some

$$tb_k \geq b_{k-1} \geq \dots \geq b_3 \geq b_2 - \gamma$$

then all zeroes of $D_\beta f(z)$ which does not lie in

$$|z + t - 1| \leq \frac{tb_k - b_2 + |b_2| + 2\gamma}{|b_k|}$$

are simple, where $b_s = (s - 1)[s\beta a_s + (k - (s - 1))a_{s-1}]$, for

$$s = 1, 2, 3, \dots, k$$

Proof- Let $f(z) = a_k z^k + a_{k-1} z^{k-1} + \dots + a_1 z + a_0$ be the k^{th} degree polynomial with real coefficients, then by the definition of polar derivative,

$$D_\beta f(z) = kf(z) + (\beta - z)f'(z)$$

$$D_\beta f(z) = kf(z) + \beta f'(z) - zf'(z)$$

Therefore,

$$\begin{aligned} D_\beta f(z) &= k(a_k z^k + a_{k-1} z^{k-1} + \dots + ka_1 z + a_0) \\ &\quad + \beta(a_k k z^{k-1} + a_{k-1}(k-1)z^{k-2} + \dots + a_1) \\ &\quad - z(a_k k z^{k-1} + a_{k-1}(k-1)z^{k-2} + \dots + a_1) \\ &= ka_k z^k + ka_{k-1} z^{k-1} + \dots + ka_1 z + ka_0 \\ &\quad + \beta a_k k z^{k-1} + \beta a_{k-1}(k-1)z^{k-2} + \dots + \beta a_1 \\ &\quad - a_k k z^k - a_{k-1}(k-1)z^{k-1} - \dots - za_1 \end{aligned}$$

Thus,

$$\begin{aligned} D_\beta f(z) &= [\beta ka_k + (k - (k-1)a_{k-1})] z^{k-1} \\ &\quad + [\beta(k-1)a_{k-1} + (k - (k-2)a_{k-2})] z^{k-2} \\ &\quad + \dots + [2\beta a_2 + (k-1)a_1] z + [\beta a_1 + ka_0] \end{aligned}$$

Now, find $D'_\beta f(z)$ we get,

$$D'_\beta f(z) = b_k z^{k-2} + b_{k-1} z^{k-3} + \cdots + b_4 z^2 + b_3 z + b_2$$

where $b_s = (s-1)[s\beta a_s + (k-(s-1))a_{s-1}]$, for $s = 2, 3, 4, \dots, n$ now consider $g(z) = (1-z)D'_\beta f(z)$, so that

then

$$g(z) = (1-z) \left[b_k z^{k-2} + b_{k-1} z^{k-3} + \cdots + b_4 z^2 + b_3 z + b_2 \right]$$

$$|g(z)| \geq |b_k| |z|^{k-2} \left[|z+t-1| - \frac{1}{|b_k|} \left\{ |tb_k - b_{k-1}| + \frac{|b_{k-1}-b_{k-2}|}{|z|} + \frac{|b_{k-2}-b_{k-3}|}{|z|^2} + \cdots + \frac{|b_3-b_2|}{|z|^{k-3}} + \frac{|b_2|}{|z|^{k-2}} \right\} \right]$$

If $|z| < 1$, then $\frac{1}{|z|} \leq 1$

$$\begin{aligned} |g(z)| &\geq |b_k| |z|^{k-2} \left[|z+t-1| - \frac{1}{|b_k|} \{ |tb_k - b_{k-1}| + \cdots + |b_3 - \gamma - (b_2 - \gamma)| + |b_2| \} \right] \\ &\geq |b_k| |z|^{k-2} \left[|z+t-1| - \frac{1}{|b_k|} \{ |tb_k - b_{k-1}| + \cdots + |b_3 - (b_2 - \gamma)| + |\gamma| + |b_2| \} \right] \\ &\geq |b_k| |z|^{k-2} \left[|z+t-1| - \frac{1}{|b_k|} \{ (tb_k - b_{k-1}) + \cdots + b_3 - (b_2 - \gamma) + |\gamma| + |b_2| \} \right] \\ &\geq |b_k| |z|^{k-2} \left[|z+t-1| - \frac{1}{|b_k|} \{ tb_k - b_2 + 2\gamma + |b_2| \} \right] \end{aligned}$$

Hence $g(z) > 0$, if $|z+t-1| > \frac{1}{|b_k|} \{ tb_k - b_{k-1} + 2\gamma + |b_2| \}$, this implies that $|g(z)| > 1$ are lie in

$$|z+t-1| \leq \frac{1}{|b_k|} \{ tb_k - b_2 + 2\gamma + |b_2| \}$$

Since all the zeroes of $g(z)$ whose modulus is less than or equal to one already lie in

$$|z+t-1| \leq \frac{1}{|b_k|} \{ tb_k - b_2 + 2\gamma + |b_2| \}$$

It follows that all the zeroes of $g(z)$ lie in

$$|z+t-1| \leq \frac{1}{|b_k|} \{ tb_k - b_2 + 2\gamma + |b_2| \}$$

Since all the zeroes of $g(z)$ are also the zeroes of $D'_\beta f(z)$ therefore lie in

$$|z+t-1| \leq \frac{1}{|b_k|} \{ tb_k - b_2 + 2\gamma + |b_2| \}$$

In other words all the zeroes of $D_\beta f(z)$ which does not lie in

$$|z+t-1| \leq \frac{1}{|b_k|} \{ tb_k - b_2 + 2\gamma + |b_2| \}$$

are simple.

Theorem 2.3 Let $f(z) = \sum_{i=0}^k a_i z^i$ be the k^{th} degree polynomial with real coefficients and β be a real number $\gamma > 0, 0 < t \leq 1$, such that for some

$$tb_k \geq b_{k-1} \geq \cdots \geq b_3 \geq b_2 + \gamma$$

then all zeroes of $D_\beta f(z)$ which does not lie in

$$|z| \leq \frac{|b_k| - t(b_k + |b_k|) + b_2 + |b_2| + 2\gamma}{|b_k|}$$

are simple, where $b_s = (s-1)[s\beta a_s + (k-(s-1))a_{s-1}]$, for $s = 1, 2, 3, \dots, k$

Proof. Let $f(z) = a_k z^k + a_{k-1} z^{k-1} + \cdots + a_1 z + a_0$ be the k^{th} degree polynomial with real coefficients, then by the definition of polar derivative, we know that

$$D_\beta f(z) = kf(z) + (\beta - z)f'(z)$$

$$D_\beta f(z) = kf(z) + \beta f'(z) - zf'(z),$$

Therefore,

$$\begin{aligned} D_\beta f(z) &= k(a_k z^k + a_{k-1} z^{k-1} + \cdots + ka_1 z + a_0) \\ &\quad + \beta(a_k k z^{k-1} + a_{k-1}(k-1)z^{k-2} + \cdots + a_1) \\ &\quad - z(a_k k z^{k-1} + a_{k-1}(k-1)z^{k-2} + \cdots + a_1) \\ &= ka_k z^k + ka_{k-1} z^{k-1} + \cdots + ka_1 z + ka_0 \\ &\quad + \beta a_k k z^{k-1} + \beta a_{k-1}(k-1)z^{k-2} + \cdots + \beta a_1 \\ &\quad - a_k k z^k - a_{k-1}(k-1)z^{k-1} - \cdots - za_1 \end{aligned}$$

$$\begin{aligned} D_\beta f(z) &= [\beta k a_k + (k - (k-1)a_{k-1})] z^{k-1} + [\beta(k-1)a_{k-1} + (k - (k-2)a_{k-2})] z^{k-2} \\ &\quad + \cdots + [2\beta a_2 + (k-1)a_1] z + [\beta a_1 + ka_0], \end{aligned}$$

Therefore,

$$D_\beta' f(z) = b_k z^{k-2} + b_{k-1} z^{k-3} + \cdots + b_4 z^2 + b_3 z + b_2$$

where $b_s = (s-1)[s\beta a_s + (k-(s-1))a_{s-1}]$, for $s = 2, 3, 4, \dots, n$

Now consider $g(z) = (1-z)D_\beta' f(z)$, so that

$$g(z) = (1-z) \left[b_k z^{k-2} + b_{k-1} z^{k-3} + \cdots + b_4 z^2 + b_3 z + b_2 \right]$$

Then

$$|g(z)| \geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \left\{ |b_k - b_{k-1}| + \frac{|b_{k-1} - b_{k-2}|}{|z|} + \frac{|b_{k-2} - b_{k-3}|}{|z|^2} + \cdots + \frac{|b_3 - b_2|}{|z|^{k-3}} + \frac{|b_2|}{|z|^{k-2}} \right\} \right]$$

If $|z| < 1$, then $\frac{1}{|z|} \leq 1$

$$\begin{aligned}
|g(z)| &\geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \left\{ |b_k - tb_k + tb_k - b_{k-1}| + |b_{k-1} - b_{k-2}| + \dots + |b_4 - b_3| + |b_3 + \gamma - (b_2 + \gamma)| + |b_2| \right\} \right] \\
|g(z)| &\geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \left\{ |b_k - tb_k| + |tb_k - b_{k-1}| + |b_{k-1} - b_{k-2}| + \dots + |b_4 - b_3| + |b_3 - (b_2 + \gamma)| + |\gamma| + |b_2| \right\} \right] \\
&\geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \left\{ |(1-t)b_k| + (b_{k-1} - tb_k) + \dots + (b_2 + \gamma - b_3) + |\gamma| + |b_2| \right\} \right] \\
&\geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \{ (1-t)|b_k| - tb_k + b_2 + 2\gamma + |b_2| \} \right] \\
&\geq |b_k| |z|^{k-2} \left[|z| - \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \} \right]
\end{aligned}$$

Hence $g(z) > 0$, if $|z| > \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \}$, this implies that $|g(z)| > 1$ are lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \}$$

Since the zeroes of $g(z)$ whose modulus is less than or equal to one lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \}$$

It follows that all the zeroes of $g(z)$ lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \}$$

Since all the zeroes of $g(z)$ are also the zeroes of $D_\beta' f(z)$ lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \}$$

Thus all the zeroes of $D_\beta' f(z)$ lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \}$$

In other words all the zeroes of $D_\beta f(z)$ which does not lie in

$$|z| \leq \frac{1}{|b_k|} \{ |b_k| - t(b_k + |b_k|) + b_2 + 2\gamma + |b_2| \}$$

are simple, where $b_s = (s-1)[s\beta a_s + (k-(s-1))a_{s-1}]$, for $s = 2, 3, 4, 5, \dots, k$.

Acknowledgments

The authors express their gratitude to the anonymous referees for their insightful remarks, suggestions, and ideas that aided in the improvement of this paper

REFERENCES

- [1] A bdul Aziz, and Q. G. Mahammad, *On the zeros of certain class of polynomials and related analytic functions*, J. Math. Anal. Appl., **75** (1980), 495-502.
- [2] A bdul Aziz, and Q. G. Mahammad, , Cana. Math. Bull., , *Zero free regions for polynomials and some generalizations of Enestromakekeya theorem*, Journal of Pure and Applied Algebra, **27(3)** (1984) 265-272
- [3] Bairagi, V. K, Saha, and T. K. Mishra, *On the location of zeros of certain polynomials*, Publication De L 'institut Mathematics, Nouvelle Serie, 99 **113** (2016), 287-294.
- [4] G.Enestrom *Remarque sur un th'eor'eme relatif aux racines de l'equation $a_n + \dots + a_0 = 0$ ou toutes coefficient sont et positifs*, Toohoku Math. J, 18, 34 – 36(1920).
- [5] C. Gangadhar, P.Ramulu and G.L Reddy *Zero free regions of polar derivatives of polynomial with restricted coefficients*, IJ PEM, 4(30)(2016), 67 – 74.,.
- [6] M.H.Gulzar, B.A.Zargar, and R.Akhter *On the zeros of the polar derivative of polynomial*, Communication Nonlinear Analysis, 6(1)(2019), 32 – 39..
- [7] S.Takeya *On the limits of the roots of an algebraic equation with positive coefficient*, T`ohoku Math. J, 2(1912-1913), 140-142..
- [8] K.Praveen, and B.Krishna Reddy, *A note on the zeroes of polar derivative of a polynomial*, Malaya Journal of Mathematik, vol 8. No.2, , (2020) 405 – 413
- [9] P. Ramulu and G.L Reddy, *On the zeros of polar derivatives*, International Journal of Recent Research in Mathematics Computer Science and Information Technology, 2(1)(2015),143-145.
- [10] G.L. Reddy, P.Ramulu and C.Gangadhar, , *On the zeros of polar derivatives of polynomial* Journal of Research in Applied Mathematics, 2(4)(2015), 07 – 10

Ram Milan Singh

Department of Mathematics, Govt. P. G. college, Tikamgarh , P.O.Box 472001, Tikamgarh, India

Email: rammilansinghlig@gmail.com